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& 1,400
Al 1,400
402 212t X201 & 100,000 100,000
= 50,000
Al 50,000
02 QI XHE AL E R (01X THE) 100,000 100,000
OsAE RUE 88 433 Il A8
100,000, 0003 * 14! 100,000
== 50,000
Al 50,000
SASIIEBHEIIsES 600,000 600,000
= 300,000
Al 300,000
401 AlEHIZ 2 0HbI 600,000 600,000
= 300,000
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2A: sHIIsUEH
N sEAE
ol SASHY (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 150,000
Al 60,000
402 QIF X201 & 210,000 210,000
= 150,000
Al 60,000
02 QIZHAHZAII 2 (0IF TH) 210,000 210,000
OSAE Il AEH KA
300,000, 0002 *17H 2 %70% 210,000
=S 150,000
Al 60,000
SAIZEIIY HACCP ZHAE IR [AEAIY] 5,600 5,600
< 4,000
Al 1,600
307 212t01™ 5,600 5,600
= 4,000
Al 1,600
02 QI HAANEE X 5,600 5,600
OsAISIIE HACCP AL E X2 ALY
8,000,000 *1JH A +70% 5,600
= 4,000
Al 1,600
HEAT OBHE SASNZAG (EX)(HEAIY) 80,000 80,000
[ 50,000
Al 30,000
308 XtXIEMSO0IE 80,000 80,000
= 50,000
Al 30,000
18 SIS0t oA AS A 80,000 80,000
OHSA= OE gdal XN
50,000,000 *2IH A +80% 80,000
= 50,000
Al 30,000
EAAMZIY N (HEALY) 34,230 34,230
& 24,450
Al 9,780
402 QIF X201 & 34,230 34,230
= 24,450
Al 9,780
02 QI X2 AL EE(0IHTHE) 34,230 34,230
Oz ASIIY KJAAMY
24,450,000 *20H A7 0% 34,230
= 24,450
Al 9,780
BRHAS E=oF XIZ A 160,000 160,000




2A: sHIIsUEH
B =ExE
ol SASHY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 100,000
Al 60,000
307 lztol & 160,000 0 160,000
= 100,000
Al 60,000
02 2IZHBYAIHE X 160,000 0 160,000
OBRHAY EoF XIHALY
200,000, 0002 *17H 2= +80% 160,000
=S 100,000
Al 60,000
sASIY NSSs FHE FHY X2 39,328 0 39,328
= 20,576
S 2,65
Al 16,096
307 @120l & 39,328 0 39,328
[ 20,576
= 2,6%
Al 16,096
02 2B YAIHE A 39,328 0 39,328
OFHeIE o] K& 33,856
[ 20,576
= 2,6%
Al 10,624
Ozde & X (usHl) 5,472
sIH2E 2,542,459 2,661,138 118,679
= 227,700
= 35,530
Al 2,219,229
S HS AL 1,886,213 1,656,352 229,861
101 @12A4H| 449,889 372,167 77,722
04 JIZtNZ22 XS 2+ 449,889 372,167 77,722
OSIIHSUHAIE S JI2FMI( B el 77,006
JlEs 78,8803 x183 & 3 43,306
srEsdsd 78,8803 x52 2 «3H 12,306
] 118,320 3623 12,779
A== 68,391,0002 *11.5% 7,865
/=l 250,0003 *3& 750
OsIIAHSUHAIE 2 J12HMI(O1s) el 2] 372,883
Es 118,000 x183 &0 194,346
ReE5dsY 118,000& x52 0 55,224
S22 177,0003 x522 +9H 82,836
AHEE= 332,406,000 *11.5% 38,227
o=l 250,000 +0& 2,250
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sgI|=dH
==x2
S o Hel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 320,324 268,185 52,139
01 At2teltl 22,400 30,400 28,000
S| HS A At 2t
4,000,000 *40H 2= 16,000
OSUMoiEd &Y HNES P
200,000 x5 =23 2,000
OSIIHSUHAIE A 2E 53 go XA
2,200,000 x2H 4,400
2 35234l 297,924 237,785 60,139
OZU=sIIH E8= 60,000
O A A HE RFH|
1,650 100 £ *40H 2 660
O2UAIEA HIIAEE
2,000,000& *129HE 24,000
OdUAE A 2SFHI(XAR, 28X) 2
gz & =AlZcl 40,000
OYt=sINH 28 REFL(BR)
1,619&%1,000 £ *4JH A 6,476
OYU=sLINH REFL(FER)
1,714 %500 £ 404 2 3,428
OSUsSIIH HaHH &a=cl
100, 0002 *800CH <22 160,000
OglsINH A S+ABH Y|
120,000 28 3,360
206 M=l 216,000 216,000
01 MHZHI 216,000 216,000
OgUsHIA =28 257
216,000&*1,000CH 216,000
401 AIZHIZ S0 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
OSUMeHE e s2IIH 22 Alg ot #l
A 43X 120,000
OSUHoHgEa 22X S A8 £X1(SX
A S A) 80,000
405 AHAHE S 700,000 700,000
01 AL =S F = 700,000 700,000
ouscs 30t & D& sIIH UH 2 500,000
Ogxz JA= sI1H 7 200,000
sIIHAMEI A3t 41,906 42,216 A310
101 21A4H| 35,906 36,216 A310
04 JIZtN2 2N S 2+ 35,906 36,216 A310
OSIIHSUAG A JI2EH 22X (01S5) 36,906
s 18,0002 x165 & 1 19,470
- rEsdsd 118,000 x522 1 6,136
g IS 177,0002 <3621 6,372
A== 31,978,000 *11.5% 3,678
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2A: sHIIsUEH
B =ExE
tel: sJIIAH2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- L= 250,000 *1 250
206 M=l 6,000 6,000
01 MZH| 6,000 6,000
=252l s el 78 7Y
15,0002 +200% 3,000
Ozsl42I8 SN 27 28 72
500,000 x65 3,000
S HEZE A 75,640 36,050 39,590
201 er23 | 52,740 600 52,140
01 At2teltl 52,740 600 52,140
OLE s FE u=stl A&
1,500,000 *30H 45,000
OusEE =8 SX HIE
2,580,000 «3CH 7,740
301 22N = 22,900 26,450 23,550
14 JIEt2 8= 22,900 26,450 23,550
OEE 2l dztu= 3,500
ZA=E 400,000 *1H+53] 2,000
SRZAE 150, 0002 x2& +53] 1,500
OsIH(S= A8 HE JAHBHFS 1S
s) #oes 200,000 *97H 19,400
SYIIAH et us X 10,200 0 10,200
= 5,100
s 1,530
Al 3,570
201 et 3| 10,200 0 10,200
= 5,100
= 1,530
Al 3,570
03 A= I 10,200 0 10,200
OsgIIAH & s 10,200,000& * 14! 10,200
= 5,100
= 1,530
Al 3,570
wWFE sIA N 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
405 KHaHF S| 40,000 0 40,000
= 20,000
& 6,000
Al 14,000
01 AL =S F=HI 40,000 0 40,000




2A: sHIIsUEH
B =ExE
tel: sJIIAH2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtEe=ZH|(EH LHI| & NS
x| &) 40,000,000 *1CH 40,000
= 20,000
[ 6,000
Al 14,000
AR 201 3 200,000 200,000
= 100,000
Al 100,000
405 KHoHF S| 200,000 200,000
= 100,000
Al 100,000
01 TR ESFSHI 200,000 200,000
OZF&HA 2 H SHA 200,000
= 100,000
Al 100,000
CESIIAWA 130,200 130,200
= 65,100
Al 65,100
405 AHatE = 130,200 130,200
= 65,100
Al 65,100
01 ML ESFSHI 130,200 130,200
O===J4UH 2 130,200
= 65,100
Al 65,100
SIHHSUHAMS A S HEIUMXIA 68,300 68,300
< 20,500
Al 47,800
405 AHaHE = 68,300 68,300
= 20,500
Al 47,800
01 ML ESFSHI 68,300 68,300
OsJIA ==& UM 68,300
= 20,500
Al 47,800
NAEHAS SIS AE (SLIH) (HEAIY) 15,000 15,000
< 7,500
Al 7,500
201 =3 15,000 15,000
= 7,500
Al 7,500
01 At2tltl 15,000 15,000
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2A: sHIIsUEH
B =ExE
tel: sJIIAH2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=98 C= de NAZY sa0d
1,500,000 *10H 15,000
= 7,500
Al 7,500
sSADI=AE(sI13) 75,000 75,000
= 37,500
Al 37,500
402 2I2E X201 & 75,000 75,000
= 37,500
Al 37,500
02 QI X2 AL EE(OIHTHE) 75,000 75,000
OEEE HIMKZ Al =2 & 2REX
25,000,000 » 14 25,000
= 12,500
Al 12,500
OsE8 sIAHE NSZEHI NS 22
50,000,000& *14! 50,000
= 25,000
Al 25,000
ONE-E= TF 1,134,000 1,134,000
= 235,000
Al 899,000
HEESY 664,000 664,000
201 et23| 400,000 400,000
01 At22te|Hl 400,000 400,000
ONEHAD HB(S5 L HEH S=)
10,000,000& * 14 10,000
Osag Jssas 24
5,000,000& 42| 20,000
OsSttE 22 JIBAMNS o33 € NS
I EAPN 60,000,000& x2& = 120,000
OsStt= 28 Jisd3 J1= & AIME X
= 50,000,000 *14] 50,000
OXIgG=H H HZE I3 AINS &Al 2
=2 50,000,000& »24! 100,000
OJISBAINS & ItS4E 220l &H=
A& 50,000,000%24! 100,000
206 M=l 100,000 100,000
01 M=4l 100,000 100,000
OFEE AMZE % - MAISE Mg
50,000,000& »24! 100,000
207 AR 100,000 100,000
01 H7ESHI 100,000 100,000
OXNYsS4E 88 DANE HLATRSHA 50,000
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SN SYIISHE
I SN
ool AltEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,736,620
Al 4,471,209
2oeDl=2= 99,600 112,600 A13,000
201 er23 | 6,000 7,500 21,500
01 At2teltl 6,000 7,500 1,500
OFDEHE MY =Y DS DA
15,0003 *200 222 = 6,000
207 ARl 5,000 6,500 1,500
03 AlZ & =2H| 5,000 6,500 21,500
O&HUE= ol - & JEHIE 7Y
250,000 x105+2K & 5,000
301 2EN= 8,600 8,600
11 dALEEIXIZE S 5,600 5,600
OZ0&E Milsel us 4L XN
700,000 82 5,600
14 JIEH2 A2 3,000 3,000 0
OgTEHE £7 =0 DT AL
300,000 %102 3,000
402 2I2FX=201H 80,000 90,000 10,000
01 IR SASE X (RHMITHR) 80,000 90,000 10,000
O8] REEF S=SHH 75 Al
8002 200, 000=F=+50% 80,000
Hools Fd=Yat 20,29 53,485 A33,189
101 @124H| 8,79% 11,585 A2,789
M IIRIMZENSES 8,79%6 11,585 A2,789
OsbtE ASTAF Q12|
78,8803 x 1 »100& 7,888
OJIZHIZ2Z2 Xt AHEE =
7,888,000 11.5% 908
201 2egh=3| 3,500 6,900 23,400
01 At22t2lt] 2,000 2,000 0
O I=3ds L3 ARES 78
200,000 %105 2,000
02 S3=gl 1,500 4,900 A3,400
OAlIE=Y 2MAH IR
125,000 1204 & 1,500
405 KHaHE SH 8,000 30,000 /22,000
01 Tt =S F=H 8,000 30,000 22,000
O8ZII=XE sUHE deEHl 2
4,000,000& <25 8,000
=S IR P oS P GRS 50,000 890,000 A840,000
402 QI2F X201 & 50,000 890,000 840,000
01 QI X2 AL EE (KEHITHE) 50,000 890,000 840,000
Ozl1SE oF Yo ZHAE 50,000
ANEBEUES 330,900 528,600 A197,700
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2A: sHIIs4EH
Zu: S
Cel: ANESY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
OALIEYE s WS A= M
500,000 %102 5,000
301 EetE2 N = 5,900 8,600 2,700
11 #AIAHIXIE S 3,500 5,600 A2,100
OANIEE sgQl W= H4A A
700,000 52 3,500
14 JIEt2 8= 2,400 3,000 A600
OADIEE S0l g AAY
300,000& +82 2,400
402 2I2F X201 & 320,000 515,000 195,000
01 QI XHZ AL E R (KEHITHE) 320,000 515,000 195,000
OADIEE & 22SAtY
40,000,000 *107H 2= *80f% 320,000
AL 0D H= 87,500 237,500 150,000
402 2I2F X201 & 87,500 237,500 150,000
01 IR SASE X (XHMITHR) 87,500 237,500 150,000
ORNlE 5 BINH X
7,000,000 +253*50% 87,500
o= AldoteA X 700,000 700,000 0
402 QI2F X201 & 700,000 700,000
01 QI X2 AL E A (KEHITHE) 700,000 700,000
OJ0XE ANEdt*A HX XI&(30,0002%47,0
00" *50%) 700,000
SHLIIEAE(ADIE) 640,000 0 640,000
= 320,000
Al 320,000
402 D12 K20/ H 640,000 0 640,000
= 320,000
Al 320,000
02 QIZHHZ AL E X (01X THE) 640,000 0 640,000
OBl0I2Xt & &AH 2E AIZMEIA 240t
A HE Dl MY 30,000,000 *10H 2 30,000
= 15,000
Al 15,000
OIS MAN BAS 915 MEIR =8
2tel Al 80,000,000 *1IH £ 80,000
= 40,000
Al 40,000
O AIES &l E5 Jlzs AlY
50,000,000 » 100 2 50,000
= 25,000
Al 25,000
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AN SI|I=HEH
HE: HEX|E
chelr ANESY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostgl FUHSEZE 152 did|s 25
Al'g 60,000,000 * 100 2 60,000
= 30,000
Al 30,000
O3S ADE J1HE HE AlY
320,000,000 *1IH 2 320,000
= 160,000
Al 160,000
O0l&I2US A A AL Al
100,000,000 *14] 100,000
= 50,000
Al 50,000
ANEot2A sRY & dFFNE H2Y EX1 N 60,000 60,000 0
402 2I2F X201 & 60,000 60,000
01 eltXt= AL (REHITH&) 60,000 60,000
OAldot2A HEAIE KIJAS 60,000
2= 2eldl AEA 100,000 100,000 0
402 QI2F X201 & 100,000 100,000
01 QI X2 AL EE(KHMITHE) 100,000 100,000
Oogas 2elJ| XNZAHY 100,000
KNS EsES HILoRA NZAY 789,600 0 789,600
= 658,000
Al 131,600
402 2IZtA=01d 789,600 0 789,600
=S 658,000
Al 131,600
02 RIINEASEZ(0IETHR) 789,600 0 789,600
OMMSESEZ o HILseA X
766,000,000 *60% 459,600
< 383,000
Al 76,600
OAlZ Satae SY(0rE = 23
550,000,000 *60% 330,000
S 275,000
Al 55,000
SUESASTALEA 10,800 0 10,800
= 10,800
202 04t 3,600 0 3,600
= 3,600
01 SLHoIH 3,600 0 3,600
OsdtE 2SZAREA 0]
25,0003 »23]*36= It 1,800
= 1,800




2A: sHIIs4EH
Zu: S
Cel: ANESY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORTII=Z ZAN=A Ol
25,0003 »23]*36= It 1,800
= 1,800
301 EtEE S 7,200 0 7,200
= 7,200
14 JIEt2a3 7,200 0 7,200
OsttEs ASTAL 24 st Alds
50,0003 »23|*36= It 3,600
= 3,600
OZIITE ZMEH st Atdl2
50,0002 *23| 3655 It 3,600
= 3,600
o= MO AOIEE XA 1,000,000 500,000 500,000
402 2I2F X201 & 1,000,000 500,000 500,000
01 RIINGSASE X (XHMITHR) 1,000,000 500,000 500,000
O& st MOl ADIEE XI&
2,000,000, 000:& *50% 1,000,000
ASHSE0I=AE 80,500 0 80,500
= 30,500
Al 50,000
402 2I2F X201 & 80,500 0 80,500
= 30,500
Al 50,000
02 QIZHRHZAI 2% (0IF TH) 80,500 0 80,500
ODNEE 22 |2 MAAY
30,000,000 1 X1 +80% 24,000
s 9,000
Al 15,000
O=£ stt= dablgtxd Alg
56,500,000 * 14| 56,500
= 21,500
Al 35,000
HoA=SI1e2=H 1,900 1,900
202 048l 1,900 1,900
01 2L AL 1,900 1,900
OXNHSS=5d At & HII0H 1,900
NASHAS AT BE L (J0]) (M EALY) 440,000 0 440,000
[ 220,000
Al 220,000
402 QI2F X201 & 440,000 0 440,000
= 220,000
Al 220,000
02 QI X2 AL EE(0IETHE) 440,000 0 440,000
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A sgI|=dH
M SHEXR
chelr ANESY (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=Reld AN = HEEZ = AlY
100,000,000 * 14! 100,000
& 50,000
Al 50,000
OHUEXZ0F B gHatE st XSS
A= B2 AlY 90,000,000 14! 90,000
= 45,000
Al 45,000
OJI=H3t (HE sLHds Al
30,000,000 14! 30,000
& 15,000
Al 15,000
OJNAE2 &8 & SIS JsE2 Al
& 20,000,000 14! 20,000
= 10,000
Al 10,000
OLt=Ze2t SHsE MM S8 Al
200,000,000 * 14 200,000
& 100,000
Al 100,000
W Z0F ICT 8=8 XA 2,726,5%6 2,726,5%6
= 1,002,362
| 442,028
= 384,661
Al 897,545
402 QI2EXH=01 N 2,726,5%6 2,726,5%6
= 1,002,362
| 442,028
& 384,661
Al 897,545
02 QIZEXH2AIZ 2 (01 & TH &) 2,726,5%6 2,726,5%6
O&du=0t ICT 258 XA 105,600
J| 48,000
& 17,280
Al 40,320
OAIE 20 CHtAI 308,000
J| 140,000
& 50,400
Al 117,600
O=Y WX 0l2 223 At 558,863
J| 254,028
= 91,450
Al 213,385
O&I A0l L KT K& AFS 1,754,133
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2A: sHIIs4EH
I SN
ool AltEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,002,362
=S 225,531
Al 526,240
AETIRA B X 69,527 69,527
< 20,859
Al 48,668
402 QI2F X201 & 69,527 69,527
= 20,859
Al 48,668
02 QI X2 AL EE(0IHTHE) 69,527 69,527
OAlIdotRA | XA 69,527
= 20,859
Al 48,668
SESEUSSHAFAIL 22,000 22,000
= 11,000
Al 11,000
201 2= 4,000 4,000
= 2,000
Al 2,000
01 At2t2ltl 4,000 4,000
OALIEE wEXs M 4,000
= 2,000
Al 2,000
206 MH=H| 4,000 4,000
= 2,000
Al 2,000
01 MHZHl 4,000 4,000
OANEE 1= M+ 4,000
= 2,000
Al 2,000
207 ARl 10,000 10,000
= 5,000
Al 5,000
03 Al 2HI 10,000 10,000
OANIEE st AIE S+ 10,000
= 5,000
Al 5,000
301 22N = 4,000 4,000
= 2,000
Al 2,000
11 dALEEIXIRE S 2,000 2,000
OANEE W= FAAXZ 2,000
= 1,000




2A: sHIIs4EH
Zu: S
Cel: ANESY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,000
14 0Bt 2as 2,000 0 2,000
OADIEE WS HEE HAle 2,000
= 1,000
Al 1,000
S oty SA(SH0IHIE) XIZAFS 120,600 0 120,600
= 100,500
Al 20,100
402 2I2F X201 & 120,600 0 120,600
= 100,500
Al 20,100
02 QI XHE AL E R (01X THE) 120,600 0 120,600
OAIE3UEZ otOIHISIHE AL 120,600
s 100,500
Al 20,100
HFEEY ANEZ HIIX XRAAS 616,000 0 616,000
S 308,000
Al 308,000
402 QI”F X201 & 616,000 0 616,000
= 308,000
Al 308,000
02 QI X2 AL E R (0IHTHR) 616,000 0 616,000
OFHEY ANEY WX KIEAE
440,000,000& *27H 2=%7(f% 616,000
=S 308,000
Al 308,000
N2RSHATASAE 56,400 0 56,400
= 28,200
=S 14,100
Al 14,100
402 2I2F X201 & 56,400 0 56,400
= 28,200
= 14,100
Al 14,100
02 QI XHZ AL E R (01X THE) 56,400 0 56,400
ONE2 FSHA A=A
94,000,000 »60% 56,400
= 28,200
= 14,100
Al 14,100
AER=E 44,268,343 42,976,423 1,291,920
= 335,168
Jl 30,176,380




S SIS
3 A
29l MEne (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,604,467
Al 12,152,328
NSEAAA 29,709 31,662 1,953
101 @124H| 14,249 13,902 347
M ORINZZE2NSE S 14,249 13,902 347
Ol B5% UL AIYEZ 2(IH2) 2 %
SEE4H, 20t A UFY 14,249
JlEs 78,8803 x45 2«3 10,649
ReRdsd 78,8802 x02 3 2,130
A" = 12,778,560 11.5% 1,470
201 er23| 2,000 2,000
01 At2teltl 2,000 2,000
ONZNE DT U DI M
500,000 45 2,000
207 ARl 10,000 12,300 /2,300
03 AlIZ &=t 10,000 12,300 22,300
O SEE dlu AIge+ M+ 10,000
301 2eEN= 3,460 3,460
11 dALEEIXIE S 3,000 3,000
OMBIRE IR HAPAD
20,0002 *150H 12 3,000
14 DBt 2 a3 460 460 0
MRS DS DALY
230,000 *23] 460
dolSS =R 2,532,900 2,366,625 166,275
307 @I2t01 & 774,000 774,000 0
02 LB HANHEE 774,000 774,000 0
Ol HiE MRS HeIH)
180,000 +8,600hax50% 774,000
402 QI”F X201 & 1,758,900 1,592,625 166,275
03 2IZH2AETAI I 1,758,900 1,592,625 166,275
OH galis &=gHl A& 1,758,900
SIS SFM & YRl X
204,000 +8, 200ha*22] *50% 1,672,800
SSEM 224 XA
105,000 8, 200hax22| *5% 86,100
Jl2d SAXNFX=H SFHHI(012) 85,380 0 85,380
Jl 85,380
101 e124d| 35,033 0 35,033
7l 35,033
04 JIZtNZ22 NS+ 35,033 0 35,033
OJl=d SA2EX=H 224 AtS
2,060, 7402 %17 35,033
Il 35,033
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=
Nyxz
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-
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500,000
500,000
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M sgII=4dH
M XA
Chel: Alztate (Shol: &2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OHdE 0z JI=Nz 22
600,0002*105 6,000
= 1,800
Al 4,200
OUEE II= W2 2
250,000 =44 1,000
= 300
Al 700
OUZEZE ROtIS & ZANED| 255 22
250,000 *87H 2,000
= 600
Al 1,400
Ogdl= al JIE 2
200,000& 105 2,000
= 600
Al 1,400
207 A IHLH| 4,000 0 4,000
= 1,200
Al 2,800
03 A& ot 2| 4,000 0 4,000
OB Noa 29 2P (M)
200,000 x20& 4,000
= 1,200
Al 2,800
HERSAEALUXA 1,600,000 1,450,000 150,000
402 BI2HR=0l M 1,600,000 1,450,000 150,000
01 QIZEXHE2 A 2= (KHRITH ) 1,600,000 1,450,000 150,000
OHEEE A5 F2XA 1,600,000
sAEHoE 222 24 N2 6,300 0 6,300
= 1,890
Al 4,410
201 Lt | 2,800 0 2,800
= 840
Al 1,960
01 At 22|l 2,800 0 2,800
Oddls 2&2E 29 100,000& *285 2,800
= 840
Al 1,960
202 Odt| 2,000 0 2,000
= 600
Al 1,400
01 =WO4bI 2,000 0 2,000
OgollE 2EE MESIAL & HolSEZAF ¢
af 20,0003 x5 20 2,000




2A: sHIIs4EH
3 A
ool MENE (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 600
Al 1,400
206 M=l 1,500 0 1,500
= 450
Al 1,050
01 M=4l 1,500 0 1,500
Oz 22X 249 ME 72
100,000& %1574 A 1,500
= 450
Al 1,050
SSEdE Ao X2 334,000 384,000 /50,000
307 lztol & 104,000 134,000 230,000
02 2IZHB A E & 104,000 134,000 30,000
OBETUCH AR #EA0 1
1,0002%48,0007+0F+50% 24,000
Oss=2d=4 &gl X1
100,000, 000& #50% 50,000
OZs=Edey 2213
20,000,000 *50% 10,000
OZsoMcy DsAHag X
20,000,000& »14] 20,000
402 2IZtA=01d 230,000 230,000
01 QI XHZ AL E R (K THE) 230,000 230,000
OSSEdd Ag= YA xd
400,000, 000& #50% 200,000
OssEdw TE MK
60,000, 000& *50% 30,000
=2 6.478 0 6.478
= 6,478
101 e124d| 1,457 0 1,457
= 1,457
04 JIZtN2 2N S 2+ 1,457 0 1,457
OS&HI=0I= e SAIE MF A=Y
161,858 3 +3 1,457
= 1,457
201 er2 3| 2,621 0 2,621
= 2,621
01 At2teltl 2,621 0 2,621
OdFgd=dc ey 2,621
= 2,621
202 04| 2,400 0 2,400
= 2,400
01 2L AL 2,400 0 2,400
OFRd=ael gRFd 2,400
= 2,400




M sgII=4dH
M SHEXR
ool AR LR
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
NEE M RS 5,000 5,000
301 LPENZ 5,000 5,000
11 HAAHIRIE S 5,000 5,000
OFLs (M=, ) AL L SXR A
st 50,0003 *50H *23 5,000
2 ZEM MELIXA 68,600 0 68,600
= 68,600
206 =8l 68,600 0 68,600
= 68,600
01 =Yl 68,600 0 68,600
OF=fae|d= ZTE ME
7003 *98,0000H 68,600
= 68,600
S SSHEX SFHAS 19,500 0 19,500
= 7,800
& 3,510
Al 8,190
402 QI X201 A 19,500 0 19,500
= 7,800
& 3,510
Al 8,190
02 QIZEXHE2AIZ 2 X (01 & TH &) 19,500 0 19,500
O SHEX 22X At
100,000 *195CH 19,500
= 7,800
& 3,510
Al 8,190
KNS EASRSFI PR S (ASES) (HEAIY) 50,000 0 50,000
T 25,000
Al 25,000
307 212+01™ 50,000 0 50,000
T 25,000
Al 25,000
02 QIZHBAAIEER 50,000 0 50,000
OB QHEAAF AFMEEH XIR A
100,000 *500ha 50,000
& 25,000
Al 25,000
SIS HMEES ALY 16,056 0 16,056
T 3,21
Al 12,845
201 B2 AY| 16,056 0 16,056
& 3,21
Al 12,845
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20,000
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851,520
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MEE
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2,203
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5,040
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14,000
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2A: sHIIs4EH
3 A
Chel: Alztate (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 536,064
14 0Bt 243 851,520 0 851,520
sgE HAlm JHEESE XE A 851,520
s 255,456
Al 596,064
IS AT RE A 441,000 0 441,000
= 245,000
=S 58,800
Al 137,200
307 @12t0| & 27,000 0 27,000
= 15,000
= 3,600
Al 8,400
02 QIZtEHAEE X 27,000 0 27,000
OJI24 MATK DRHEE AL
30,000,000 *1IH 2=x90f% 27,000
= 15,000
= 3,600
Al 8,400
402 2I2F X201 & 414,000 0 414,000
= 230,000
= 55,200
Al 128,800
02 QI X2 AL E R (01X THE) 414,000 0 414,000
OJ128 MAST AlE - ZHl NJ3AY
460,000, 000 *90% 414,000
= 230,000
= 55,200
Al 128,800
S Il X2AH 60,000 0 60,000
s 18,000
Al 42,000
402 2I2FXH=201H 60,000 0 60,000
[ 18,000
Al 42,000
02 QI T2 AL EE (01X THE) 60,000 0 60,000
O=sXald |l X2 AL 60,000
= 18,000
Al 42,000
netgs 1,852,881 1,066,602 786,279
= 469,400
Jl 10,811
Al 1,372,670




M sgII=4dH
T ST
Chelr Lstd s EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
I sIIsA 57,789 56,611 1,178
101 2124 d| 41,589 40,411 1,178
o IR Z2ISE S 41,580 40,411 1,178
OBEIISASY (MBI O LZAA)
o124d| 41,589
2= 78,830 *2H 183 28,871
ResdsY 78,8803 x2H x52 8,204
JUEEZ 37,073,6003*11.5% 4,264
- Ol =l 250,000 *1H 250
201 L2 AY| 16,200 16,200
01 A=R2teld| 1,200 1,200
Og=sdd1e8=sNd Se)lisa 22 M
27 120, 0002105 1,200
® 222l 15,000 15,000 0
OB8IISH |XB4H
750,000, 000& *2% 15,000
MIOI=ASAIEE 9,867 88,726 6,141
101 2124 d| 45,267 42,126 3,141
M I1RINZ2Z2sSEs 45,267 42,126 3,141
Q&S MZERE 2AF J12H- el24d| 41,339
2= 78,830 *2H 183 28,871
ReEsdsY 78,8803 x2H x52 8,204
AUBEE 37,073,6003*11.5% 4,264
Q&[S MZEAE Mot AEWH &S 3,928
-J|lE2= 78,8303 *8H 6 3,787
LA 22X DA 282
3,786,240& *3. 7% 141
201 L2 AH| 21,100 18,100 3,000
01 AtR2elt] 1,100 1,100 0
OMZ It ASAEE 29
100,000&* 115 1,100
02 SE=29| 20,000 17,000 3,000
OMZ X MAD|EE Al 42| 2 RXIBI(FO
HHE, ZMSA M2 HED)
1,400,000 * 1001 & 14,000
OalE ANELEY, d8F & RAE>
600,000& *105 6,000
206 =8l 28,500 28,500
01 =Yl 28,500 28,500
OMZE NBEZE 2¢ X7 (A517,0)
A, =2 HIZ) 700,000& «10= 7,000
OA2ASH WA MotE AEFY 21,500
A HE A 18,634 17,016 1,618
101 e124d| 13,634 12,016 1,618

_39_




S SIS
I SN
chol: DiEtls CERE)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
M ORIMZZ2NSE S 13,634 12,016 1,618
OXAga =g lAt| 13,634
Jl2s 78,8803 x1&H*120 9,466
=E5g¢+E 78,8803 x 1 »35 2,761
AHEE= 12,226,4002+11.5% 1,407
206 THZH| 5,000 5,000
01 M2l 5,000 5,000
OZNMHSR Mot TR Aol
400,000 55 2,000
OXABSR dak I
100,000& *105 1,000
OZXAHZR Mot optetd 2
500,000 *45 2,000
= MR et A= 201,560 139,792 61,768
101 @124H| 16,360 15,392 968
04 JIZtN22 NS84+ 16,360 15,392 968
OEENZA E58 2 I 16,360
Jl2s 78,8802 x20H 10 15,776
- UELTH EEE 15,776,000 *3. 7% 584
201 =3 3,000 3,000
01 At2t2lt] 600 600
OMZ At da2d ArR2eld|
60,000& *105 600
02 S3=gl 2,400 2,400 0
O&JIetd 2eld| 700,000 22 1,400
OaxgEd 2l 500,000 <22 1,000
207 AR 50,000 50,000
03 Al 328 50,000 50,000
OESMNZ At dHolelA 23 JIEFY
500,000 x2KI & 1,000
OFSMZ Mo 2T WX 7 (A X2k
a) 35,0002 +1,4004¢ Kt 49,000
301 LEN= 20,400 20,400
11 SEAAHIXIRES 400 400
OFEENZ A dat=sHol W=
8,000 »25 & *22 400
14 JIEt2d= 20,000 20,000 0
OSSN At HatsHol Hels X2
20,000,000& » 14 20,000
401 AlEHIY S CHYI 60,000 60,000
01 AlZHI 60,000 60,000
OFEENZA 2N dSIIH £
30,000, 000& »24! 60,000
402 SI2ERH=201 S 51,800 51,000 800




S SIS
3 A
chol: DiEtls CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QI X2 AL E A (KEMITHE) 51,800 51,000 800
OZSM At rddak Tt X2 A 28,800
OUSE ESNZA JIERF XA 23,000
ASAIEH 200,000 322,000 122,000
207 ARl 150,000 272,000 122,000
03 AlIZ & =2t| 150,000 272,000 122,000
OtlaS =2z 24837
10,000,000 1504 2= 150,000
402 QI2F X201 & 50,000 50,000
01 QIZIXHE2 AL 2 (KM E) 50,000 50,000
OSHSa AIHAY
50,000,000 *1IH 2 50,000
etz Dld=tiga =9 258,423 267,061 A\8,638
101 @1A4H| 54,973 62,311 7,338
04 JIZtNZ22 XS 2+ 54,973 62,311 AT,338
OzltF0ld=tet e Bugtd s JI2ZHMZ2&2
A 2= 13,634
JlEa 78,8802 x1H %1202 9,466
rEsdsd 78,8802 x1& 352 2,761
A== 12,227,0002 %11.5% 1,407
OzF0ldSHee JIZRHZ2XN 2= 41,339
2= 78,8803 x2H 183 28,871
rEsdsd 78,8803 x2& 52 8,204
A== 37,073,600& *11.5% 4,264
201 er23| 29,200 22,000 7,200
01 AtR2t2|HI 7,000 7,000 0
Olld =St AIRESHY
200,000& *102] 2,000
Obld=tie 222 & ul M=
400,0002 %105 4,000
Oll4=Hie g 24 2|2
50,0002 x65+43] 1,000
02 S3=gHl 22,200 15,000 7,200
Ol =t tal AIZEHl KX
600,000& »202] 12,000
Olld=HeA MIIRs
600,000 * 1294 7,200
OD|MSHHA Z&It (242!, AlcH, 3HTH) 3,000
206 MH=H| 166,250 166,250
01 M=4l 166,250 166,250
OO0l =tHef 75 iRl F1&
500, 000& x2502] 125,000
Olld=tiea 8 WEe & AIY=
900,0002 %105 9,000
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S SIS
M SHEXR
chol: DiEtls (Hol: &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OlIMSHY TR (52IEHE)
3504+30,000% 10,500
OB B8 SARTSE W2 7Y
165,000 *100kg 16,500
OB &8 2J| &dl 2
3,500 *1,500% 5,250
401 AIEHIZ20HHI 8,000 8,000
01 Al&HI 8,000 8,000
OO0l Z el LHREE N ALY
8,000,000& * 14! 8,000
NEEs=sHI) =3B X2 40,797 0 40,797
= 4,000
Al 36,797
101 21244l 40,121 0 40,121
= 4,000
Al 36,121
03 SR (RIAHL) 22X B4 40,121 0 40,121
OXZEEs =)= 23 XA 40,121
JlE22 2,251,100 1H+ 1200 & 27,014
= 4,000
Al 23,014
glg=t| 40,0002 1204 & 480
ARG 50,0002 x 1294 & 600
g 20,0002 = 1204 & 240
- DL A| 102,6243 15 1,540
- BESIHI 1,350,660 23| 2,702
=fals]l 140,000& = 1201 & 1,680
A2l =S 19,2422 x15A 2t 1290 & 3,464
22 900,440 x23| 1,801
e e = ) P = 50,000& 1201 = 600
303 ZAS 676 676
01 L& 676 676
OHIANS3 2,251, 1002 *30%+* 13| 676
sHAD|SAYE(NEDs) 120,000 0 120,000
= 60,000
Al 60,000
402 QI2E X201 ™ 120,000 0 120,000
= 60,000
Al 60,000
02 QIZEXHEAIZ 2 X (01 TH &) 120,000 0 120,000
O=Z2 UEE NUZES IS 488 8
& A A 20,000,000 *1JH 2 20,000
= 10,000
Al 10,000




2A: sHIIs4EH
I SN
29 AEEs (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ Xt ISl g dits ?et SMA
2E Jl=Ag 100,000,000 * 190 2 100,000
= 50,000
Al 50,000
SeEAaed 2H(EY) 26,400 26,400
= 6,600
Al 19,800
207 AR 26,400 26,400
= 6,600
Al 19,800
03 Al& ol 7| 26,400 26,400
OEUARY 29 AlZT HE 7Y
8,000 +1,8758 15,000
= 3,750
Al 11,250
O#ZE & 3T 24MS & Mg 2
200,000& »30& 6,000
= 1,500
Al 4,500
OsttE oty 28 & e 28
200,000 #2718 5,400
= 1,350
Al 4,050
StENENY 29 500,000 500,000
= 250,000
Al 250,000
405 KHaHE SH 500,000 500,000
= 250,000
Al 250,000
01 AL =S F=HI 500,000 500,000
OnBsARA I 7
500,000,000 x 14 500,000
= 250,000
Al 250,000
HEEL ¥2& =H 8,600 8.600
2 4,300
Al 4,300
101 ©1AH| 6,510 6,510
= 3,255
Al 3,255
M IRNZZ2NSE 6.510 6.510
Oi=E2h Bk 58 2RY 6,510
JlZ2s 78,8803 x 1 +61 4,812
= 2,406




2A: sHIIs4EH
3 A
chol: DiEtls CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,406
raERdrd 78,8802 x1&8 13 1,026
= 513
Al 513
AHEE 5,837, 1202« 18 *11.5% 672
= 336
Al 336
206 MH=H| 2,090 2,090
= 1,045
Al 1,045
01 XH=4l 2,090 2,090
OR=st =3 M 2,090
= 1,045
Al 1,045
FeEAzeld 2E(54) 10,000 10,000
= 2,500
Al 7,500
206 M=l 10,000 10,000
= 2,500
Al 7,500
01 M=4l 10,000 10,000
O=xitE (lds i Mg 7
10,000,000& * 14! 10,000
= 2,500
Al 7,500
=M olHEAH 10,811 10,811
Il 10,811
206 M=H| 10,811 10,811
Jl 10,811
01 MZH| 10,811 10,811
AHNEM 0gEE Me & 10,811
) 10,811
EASEH JIEER 24018 = 200,000 200,000
= 100,000
Al 100,000
405 KHaHF S| 200,000 200,000
= 100,000
Al 100,000
01 ML ESFSHI 200,000 200,000
OJ=2h 24 dg 3= JAEBI(IP)
2 2NN S 200,000,000 *14] 200,000
= 100,000
Al 100,000
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2= Mg
=ESPN

A
=
el
Xk
2

- EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OISR DIz 15 BAKEY
800,000& 52 4,000
OL=S& Dz us S22
8,000 100 800
14 J|Et2a s 1,500 0 1,500
OD4SH Iz DS ALY
300,000 #52] 1,500
401 AIZHIZ SO 10,000 10,000
01 Al&HI 10,000 10,000
ORZE ASE L2 AE WA
10,000,000 * 14 10,000
DA Y 733,000 733,000 0
402 2I2F X201 & 733,000 733,000
01 BIENSA S E X (XM THR) 733,000 733,000
OLUBE T AMEX K&
18,000& 77 ,000m" x50% 693,000
OAtL - S=0F HAEX] X3
5,000& %16, 000m" *50% 40,000
Dt A [BIAIE 386,250 395,000 A\8,750
402 2IZtA=01d 386,250 395,000 A\8,750
01 QI XS AL E R (K THE) 386,250 395,000 A8,750
OU=S& Sg23Ne X3
7,700,000& *255*50% 96,250
Ot AIZB i3t XI2 290,000
IR el XA 785,000 760,000 25,000
402 QI2F X201 & 785,000 760,000 25,000
01 QI X2 AL E X (KEHITHE) 785,000 760,000 25,000
Ol dsiegklEg 23| A&
6,000,000 *20CH*50f% 60,000
Ot M2IlaH Gl X
50,0003 *3, 600 #50% 90,000
Ol sJIH X 1,200,000, 000& *50% 600,000
OM2MEL] MHESAHMH X 35,000
SS&=s duHXl 50,000 50,000 0
402 212t X201 & 50,000 50,000
01 QI X2 AL E R (KEHITHE) 50,000 50,000
OtlIx= (S8 - oigth) &= s¢ X
2,500%%40,000m" *50f% 50,000
Y= DSEALESUS 120,000 0 120,000
48,000
21,600
50,400
402 2I2FX=01 & 120,000 0 120,000
48,000
21,600




2A: sHIIs4EH
M SN
ol S5 EER
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 50,400
02 QI XHE AL E R (01X THE) 120,000 0 120,000
OFTAte= 11ZZE SHst 120,000
Il 48,000
= 21,600
Al 50,400
FTALR=ALY HIElE & 2t 15,750 0 15,750
Il 16,750
307 glztol & 15,750 0 16,750
Jl 15,750
02 LB AANHEE 15,750 0 16,750
OFTA Dt==XtESAIEAHIE & 2t 16,750
- FTA b= At 2teitl 2,750
Il 2,750
FTA b= SHXFEIF QIMIEIE (D=4 O
SRE=mE ) 13,000
Jl 13,000
sHSENHSHZLMAI 151,000 0 151,000
= 75,500
Al 75,500
101 @124H| 29,420 0 29,420
= 14,710
Al 14,710
M ORINZZE2NSE S 29,420 0 29,420
OdaliE LM J12HM 212t| 29,420
lEs 78,8803 x2EH x142 22,402
= 11,201
Al 11,201
- ReEREsd 78,880 x2& x26! 4,102
= 2,051
Al 2,051
AHEE= 26,503,680& *11% 2,916
= 1,458
Al 1,458
201 ger=3| 14,580 0 14,580
= 7,290
Al 7,290
01 At22t2l] 13,780 0 13,780
OgaisuZ us, 82 & 29 3,780
= 1,890
Al 1,890
OEHSHE LA X SRt
10,000,000 1CH 10,000
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M sgII=4dH
M SHEXR
Sl WeSE ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 5,000
Al 5,000
02 33=24H| 800 800
OgisHZESME X =X
80,000 = 1001 & 800
= 400
Al 400
206 =4l 3,000 3,000
= 1,500
Al 1,500
01 =Yl 3,000 3,000
Odois0z & Mz 2
300,000 108 3,000
= 1,500
Al 1,500
307 2I2+01™ 104,000 104,000
= 52,000
Al 52,000
02 QIZHBAAIEER 104,000 104,000
Os&zE gais 2ol
104,000,000& *1&HX| 104,000
= 52,000
Al 52,000
dI9doiE SEUS 10,000 10,000
& 3,000
Al 7,000
101 2124 d| 9,458 9,458
T 2,838
Al 6,620
M IIZMZ22 NS Es 9,458 9,458
OYollE HIZLHEE J12HH el24t| 9,458
JlE232 78,8303 x2H 45 7,100
= 2,130
Al 4,970
- Sasgsy 78,880 x2H»9 1,420
& 427
Al 993
40 BE8= 8,519,040& *11% 938
= 281
Al 657
201 LB-2AY| 542 542
& 162
Al 380
01 At22teld| 542 542
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Osgdois e AR2ell] 542
= 162
Al 380
SHADISAE (=) 150,000 0 150,000
= 75,000
Al 75,000
402 2I2F X201 & 150,000 0 150,000
= 75,000
Al 75,000
02 QI XH2AILEE (01X THE) 150,000 0 150,000
O=£8 S0t 8&RX DIz HSAY
150,000,000 14X 150,000
= 75,000
Al 75,000
SESASAIZE U 72,000 0 72,000
) 28,800
Al 43,200
402 2I2F X201 & 72,000 0 72,000
Il 28,800
Al 43,200
02 QI EASEX(0IETHR) 72,000 0 72,000
OSEXS(HA S) MAAIZSUS
136,000,000 *50% 68,000
Il 27,200
Al 40,800
OSEAS(24y) HAALS e
8,000, 0002 *50% 4,000
Il 1,600
Al 2,400
H=Bgsd 1,572,857 2,004,363 431,506
= 90,590
=S 550,743
Al 931,524
0l32c] elssR Aot 365,614 391,831 ND6,217
101 ©1AH| 138,614 144,831 N6,217
M ORNZZ2NSE S 138,614 144,831 6,217
OblFe| ASESR AL L AFEE J2HA|
228 138,614
JlZ2s 86,5102 x 165 6H 85,645
- rEsdrd 86,5102 x522+6E 26,992
S22 129, 7703152 +6H 11,680
A0 2= 124,317,000 *11.5% 14,297
201 er23 | 77,000 77,000
01 At2teltl 3,000 3,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o012l 3 ARES 7
300,000 %102 3,000
02 S3=gHl 74,000 74,000 0
OnlTel 97RS 2% M3
50,000,000 *1 50,000
OblFel H7S AIZEHIF ]
800, 000& *302 24,000
206 M=l 100,000 100,000
01 MZH| 100,000 100,000
Obl#e| oSSR YA Hee
500,000 *205*1001 2 100,000
207 ARl 50,000 70,000 220,000
03 AlZ &=t 50,000 70,000 /20,000
OFe+ 0172 80 teEgdat Alg A7
= 5,000,000& 102 50,000
0l#2| LAX 2E 232,308 342,532 A110,224
101 @124H| 69,308 72,332 A3,024
M ORIMZZ2NSE S 69,308 72,332 A3,024
OblFe| ISR WA & AL JI2HA|
22 69,308
JlEag 86,5102 x 165 «3H 42,823
=E52€sY 86,510 »522+3H 13,49%6
FL2PE 129, 7702152 +3 5,840
40 2= 62,159,000 *11.5% 7,149
201 er2 3| 63,000 63,000
01 AtR2telHl 3,000 3,000
O0IH2| SAHK 28 AIRES 728
300,000& %102 3,000
02 s3=gbl 60,000 60,000 0
OblFe| LA 28 dII2=
5,000,000& * 1294 & 60,000
206 Tl 100,000 100,000
01 W=H 100,000 100,000
O0IF2| YACHT IBZRML HE 2L
500,000 *205*1001 2 100,000
W=8H0ieed 3t 50,000 50,000
207 ARl 50,000 50,000
01 ARSI 50,000 50,000
OlUi=H e & 0SB EETA 50,000
SAIH S A (HEAIY) 15,000 0 15,000
= 4,500
Al 10,500
307 glztol & 15,000 0 15,000
= 4,500
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Li=3Hogsd
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Al 10,500
02 QA AAEE X 15,000 15,000
ONMAIE! B2 AR
1,000,000 *15ha*100% 15,000
== 4,500
Al 10,500
LAY ASH X2 A 10,800 10,800
= 3,240
Al 7,560
402 SIZERHE0| M 10,800 10,800
= 3,240
Al 7,560
02 RIENZAEE X (01 THR) 10,800 10,800
OLAR ASH XA
3,375 4, 000kg*8(0% 10,800
== 3,240
Al 7,560
W8 2AE AILS S 12,000 12,000
= 3,600
Al 8,400
402 QIREXE01M 12,000 12,000
= 3,600
Al 8,400
02 RIEN2AIEEZ (01 M THR) 12,000 12,000
Ol SAE AL XA
20,000,000 1IH A +60% 12,000
s 3,600
Al 8,400
Olat=2 S KN3AMY 5,797 5,797
= 5,797
402 2I2F X201 & 5,797 5,797
= 5,797
02 QI A2 AL E (01X TH ) 5,797 5,797
O0lg=2 WS NEA
3,623,000 *27H 2 +80% 5,797
= 5,797
FMEX WY FA (HEALY) 50,000 50,000
= 40,000
Al 10,000
206 =4I 50,000 50,000
= 40,000
Al 10,000
01 M=4l 50,000 50,000
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OX4ET YL EA
50,000,000& *100% 50,000
= 40,000
Al 10,000
W==8 AEIH w2toE FHALE 16,300 0 16,300
== 4,900
Al 11,400
307 212+01& 16,300 0 16,300
[ 4,900
Al 11,400
02 LB HAHE L 16,300 0 16,300
Ol =2 MEHH wettES 2MA
4,000& *4,075kg*100% 16,300
= 4,900
Al 11,400
=4 - HE ZATIIIXZ A (AHEIBA+E) 15,300 0 15,300
s 6.120
Al 9,180
201 2= 300 0 300
& 120
Al 180
01 At22ld 300 0 300
O==4HHE AR IIXIXIRAIS (B ZHI
) 300
= 120
Al 180
301 EetE2 NS 15,000 0 15,000
=S 6,000
Al 9,000
14 0Bt 2as 15,000 0 15,000
O=4tH0E SAX ORIl XA (HLIS
ol=g) 600, 0003 257K 2% 100% 15,000
< 6,000
Al 9,000
FAAME JISEHl A2 A 84,000 0 84,000
= 42,000
< 12,600
Al 29,400
402 QI2E X201 & 84,000 0 84,000
= 42,000
== 12,600
Al 29,400
02 SIINEANSEX(0IETHR) 84,000 0 84,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=x=UASE Jts8dl XA
140,000, 0002 *17H 2 +60% 84,000
= 42,000
[ 12,600
Al 29,400
A JIAH K& A 4,757 4,757
= 1,427
Al 3,330
402 I2FX=01 & 4,757 4,757
= 1,427
Al 3,330
02 RIENZASEZ(0IETHR) 4,757 4,757
O2AE JIXM XA
991,040 x84 2= +60% 4,757
< 1,427
Al 3,330
AR ZQIBHI} CfH| KISHHY KR 7,800 7,800
= 2,340
Al 5,460
402 2IZtA=01d 7,800 7,800
= 2,340
Al 5,460
02 QI XHE AL E R (01X THE) 7,800 7,800
O2LAE ZHEHI Yl XIok==IHE X1 AL
e 13,000, 0002 *1JH 2 +60% 7,800
< 2,340
Al 5,460
W=D 2 E 2t FotAIE X2 A 12,000 12,000
= 3,600
Al 8,400
402 2I2F X201 & 12,000 12,000
= 3,600
Al 8,400
02 QI XHE AL E R (01X THE) 12,000 12,000
Ou+8 2ME zatd JotAlE X3 A
20,000,000 *1IH 2= %60f% 12,000
== 3,600
Al 8,400
T2 RSAE - ZH NEAE 9,800 9,800
= 2,940
Al 6.860
402 QIF X201 & 9,800 9,800
= 2,940
Al 6,860
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02 QIZEXHE AL E (01X THE) 9,800 9,800
O=tt2 RSAEEH N2 A
7,000,000& *27H 2=%7(f% 9,800
= 2,940
Al 6,860
LAY XSSHAIE HHl XA (D EAY) 12,000 12,000
== 7,500
Al 4,500
402 2I2E X201 & 12,000 12,000
== 7,500
Al 4,500
02 QI X2 AL EE(OIHTHE) 12,000 12,000
OLMOIE ISFAIL EH TR
15,000,000 *17H 2 #80% 12,000
= 7,500
Al 4,500
SENASB AT [F0IAB LA T AE S A 600,000 600,000
[(HEAD)
< 450,000
Al 150,000
307 212+01& 600,000 600,000
& 450,000
Al 150,000
02 2B YA HE L 600,000 600,000
OZ0IAZNY Z2IAH SA
600,000,000 *17H 2% 100% 600,000
= 450,000
Al 150,000
LA ADE 22N 2F 2,160 2,160
== 648
Al 1,512
402 2I2E X201 & 2,160 2,160
= 648
Al 1,512
02 QI X2 AL EE(OIHTHE) 2,160 2,160
OYQAR ADIE BRINAEY 7%
1,800, 0002 *29H 2 +60% 2,160
= 648
Al 1,512
LAE HASEA NS AL 180 180
== 54
Al 126
301 2= 180 180
< 54
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 126
14 0Bt 243 180 0 180
FAIZ BHALS AL X1
10,0002 *18kg*100f% 180
== 54
Al 126
&al otk MolEE 9,984 0 9,964
= 2,99
Al 6,989
301 EtE N = 9,964 0 9,964
= 2,99
Al 6,989
4 IIEt2 8= 9,984 0 9,984
OQMLNS THHZE (2O AL)
16,640,000 *1JH 2 +60% 9,984
== 2,99
Al 6,989
SZ0NHX E= 57,057 0 57,057
= 42,793
== 4,279
Al 9,985
402 2I2E X201 & 57,057 0 57,057
= 42,793
= 4,279
Al 9,985
02 QI XHE AL E R (01X THE) 57,057 0 57,057
OdaduuX E2AE
71,321,000 *1IH 2= »80f% 57,057
= 42,793
= 4,279
Al 9,985
HH =S 3 219,010 210,670 8,340
J23tl(sgIIs4H) 219,010 210,670 8,340
Jl23tl(sgIIs4H) 219,010 210,670 8,340
201 er23| 89,400 89,400 0
01 At2teltl 13,800 13,800 0
ogzlaesg 60,0002 x2ZH*115& 13,800
02 S3=gHl 75,600 75,600 0
Osdllz 3832= % HA
6,300,000 * 1204 & 75,600
202 04| 112,450 105,250 7,200
01 =LHO LI 63,250 56,050 7,200
SENE AR+ 63,250
02 XN 49,200 49,200 0




2A:

s8JI=4H

3 HYEIEFY
celr J=ZHl(s2II=dH) (S & 2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
OsglaEAaz UM 37,800
Ol oH &
300,000 «3& * 1201 & 10,800
olgd 250,000& 18121 2 3,000
=] 200,000« 1+ 12042 2,400
- JIEHSH 150,000 x 12120 21,600
OsJIHS WA A 11,400
QlEEA 250,000 =2+ 1204 6,000
et 82S 150,000 x3& 12042 5,400
203 =] 17,160 16,020 1,140
01 J|22g P8 3,300 3,300 0
Osllede A 3,300
02 FRItAA =AY 3,120 2,880 240
Ot 20| 3,120
(U A egehes B tarSlal 10,740 9,840 900
ORANEgg =AY 10,740
SENUESL 5,940
[ERSPNE=I; 4,800




